1.- Une con flechas cada descomposicion con su resultado.

100+10+5 167
100 + 60 + 7 109
100 + 70 186
100 +9 115
100 +90 + 1 124
100 + 80+ 6 170
100+20+ 4 191

2.- Une con flechas el numero con su descomposicion.

123 1C+1D+7U
182 1C+4D + 0V
157 1C+7D + 6U
108 1C+8D + 2V
140 1C+2D + 3V
153 1C+5D + 3V
176 1C+0D + 8U
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3.- Une con flechas.

1C+9D + 3V 100 + 60 = 160

1C+8D + 1V 100+40+7 =147
1€+ 6D 100 +90 + 3 =193
1C+4D + 7V 100 + 50 + 3 =153
1C + 6U 100 + 80 +1 =181
1C+5D + 3V 100+ 30+5=135
1€+ 3D + 5V 100 + 6 = 106
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